Attribute Assignment (Question)

>>> p = shapes.Point3(0,0,0) Global Space

>»>> (=P P id4 id4
« Execute the assignments: q ida Point3
>»>>p.X = H v |0
>>> (.X = 7 ; z
« Whatis value of p.x?
z |0
A:5
B:7
C:id4

D: 1 don’t know
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Attribute Assignment (Solution)

>>> p = shapes.Point3(0,0,0) Global Space

>»>> (=P P id4 id4
« Execute the assignments: a ida Point3
>»>>p.X = H . ,W,5/ 7
>>> q.X.= 7 ; )
« Whatis value of p.x?
7z |0
A:5
B:7 CORRECT
C:id4

D: 1 don’t know
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How Many Folders (Question)

4 N
import shapes
p = shapes.Point3(1,2,3)
g = shapes.Point3(3,4,5)
\ /
Draw everything that gets
created (excluding the module
variable & module folder).
How many folders get drawn?

24



How Many Folders (Solution)

4 N
import shapes 41
p = shapes.Point3(1,2,3) ! Point3
g = shapes.Point3(3,4,5) |1
\ /
Draw everything that gets Y2
created (excluding the module z|3
variable & module folder).
How many folders get drawn? 42
Point3
X|3
y |4
Z|5




What Else Gets Drawn? (Question)

4 N
import shapes 41
p = shapes.Point3(1,2,3) ! Point3
q = shapes.Point3(3,4,5) |1
\ /
Draw everything that gets y |2
created (excluding the module 713
variable & module folder).
What else gets drawn? Ao
|
Point3
X|3
yi4
Z|5




What Else Gets Drawn? (Solution)

- ) Global Space
import shapes 41
p = shapes.Point3(1,2,3) p|idl | Point3
g = shapes.Point3(3,4,5) |1
- / qlid2
Draw everything that gets y |2
created (excluding the module 7|3
variable & module folder).
What else gets drawn? Ao
|
Point3
X|3
y |4
Z|5
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Swap Attributes (Question)

/E;;ort shapes

p
q
def

1
2
3

shapes.Point3(1,2,3)
shapes.Point3(3,4,5)

swap_x(p, q):

t =p.X
p.X = g.X
qg.x =t

\\if?p_X(p, q)

\\\\

/

Whatisinp.x atthe
end of this code?

A:0
B:1
C:2

D:3 CORRECT
E:ldon’t know

Global Space

P

q

id1

id2

Point3

Point3




[ Swap Attributes (Solution)

/E;;ort shapes

\s\\m—ap_X(p, q)

p = shapes.Point3(1,2,3)
q = shapes.Point3(3,4,5)
def swap_x(p, q):

1 t =p.X

2 p.X = (.X

3 g.x =t

\\\\

/

Whatisinp.x atthe
end of this code?

A:0 D:3 CORRECT
B:1 E:ldon’tknow
C:2

Global Space

P

q

id1

id2

Point3

Point3
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[ Swap Attributes (Explanation-1)

import shapes
p
q

*def swap x(p, q):
t

2 p.X
q.X

n n o

3

\s\wap_X(p, q)

. X
q.X
t

shapes.Point3(1,2,3)
shapes.Point3(3,4,5)

\\\\

/

Whatisinp.x atthe
end of this code?

A:0 D:3 CORRECT
B:1 E:ldon’tknow
C:2

Call Stack (w/1Frame)

Global Space

p|idl

q|id2

swap_X 1

id1

id2

P
g

id1

Point3

Point3
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[ Swap Attributes (Explanation-2)

import shapes
p
q

def swap x(p, q):

m P

2 p = (.X
q.

\s\wap_X(p, q)

shapes.Point3(1,2,3)
shapes.Point3(3,4,5)

\\\\

/

Whatisinp.x atthe
end of this code?

A:0 D:3 CORRECT
B:1 E:ldon’tknow
C:2

Call Stack (w/1Frame)

Global Space

P

q

id1

id2

swap_X

id1

id2

P
g

Y2

id1 _
Point3

Point3
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[ Swap Attributes (Explanation-3)

import shapes
p
q

def swap x(p, q):

\s\wap_X(p, q)

shapes.Point3(1,2,3)
shapes.Point3(3,4,5)

\\\\

/

Whatisinp.x atthe
end of this code?

A:0 D:3 CORRECT
B:1 E:ldon’tknow
C:2

Call Stack (w/1Frame)

Global Space

P

q

id1

id2

swap_X

id1

id2

P
g

Y73

id1

Point3

x,1'3

Point3
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[ Swap Attributes (Explanation-4)

import shapes
p
q

def swap x(p, q):
1 t

= p.X
2 p.X = q.X
gd.X t

jswap_X(p, q)

n n o

shapes.Point3(1,2,3)
shapes.Point3(3,4,5)

\\\\

/

Whatisinp.x atthe
end of this code?

A:0 D:3 CORRECT
B:1 E:ldon’tknow
C:2

Call Stack (w/1Frame)

Global Space

P

q

id1

id2

swap_X

id1

id2

P
g

Y74

id1

Point3

x,1'3

Point3
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Swap Attributes (Explanation-5)

import shapes
p
q

def swap x(p, q):
1 t

2 p.X
q.X

n n o

3

*ﬁap_X(p, q)

. X
q.X
t

shapes.Point3(1,2,3)
shapes.Point3(3,4,5)

\\\\

/

Whatisinp.x atthe
end of this code?

A:0 D:3 CORRECT
B:1 E:ldon’tknow
C:2

Global Space
P

q

Call Stack (w/1Frame)
/

id1

id2

swap_X

idl [P

id2

7

/

RETURN

174

1

None

id1

Point3

13

Point3
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I Global p (Question)

import shapes \ Global Space

p = shapes.Point3(1,2,3) : id1

q = shapes.Point3(3,4,5) p |id1 Point3
def swap(p, q): g |id2 x|

1 t = o) y 2

> p =g

3 g =t Z|3

\Sﬁap(p, q) / "

What is in global p after Point3
calling swap? X |3
A:idl y 4
B:id2 D:2 E

C:1 E:ldon’tknow 3




[ Global p (Solution)

import shapes \ Global Space

p = shapes.Point3(1,2,3) : id1

q = shapes.Point3(3,4,5) p |id1 Point3
def swap(p, q): g |id2 x|

1 t = o) y 2

> p =g

3 g =t Z|3

\S&ap(p, q) / "

What is in global p after Point3
calling swap? X|3
A:id1 € CORRECT P
B:id2 D:2 E

C:1 E:ldon’tknow 36




I Global p (Explanation-1)

import shapes \ Global Space

p = shapes.Point3(1,2,3) : id1

g = shapes.Point3(3,4,5) p|idl Point3
ﬂef swap(p, q): g |id2 XL

1 t=p y |2

> p=gd

3 g = t Z 3

Call Stack (w/1Frame)
\SQap(p, a) / ,
swap_X 1 id2 _

What is in global p after : Point3
calling swap? 1|d1 P X|3

A:id1 € CORRECT id2 q y |4

B:id2 D:2 S5

C:1 E:ldon’t know 3




I Global p (Explanation-2)

import shapes \ Global Space
p = shapes.Point3(1,2,3) : id1
g = shapes.Point3(3,4,5) p|idl Point3
def swap(p, q): g |id2 XL
* t=p y|2
P =4
3 g = t Z 3
( ) Call Stack (w/1Frame)
swap(p, ¢
\ / swap_X '1/2 id2 _
What is in global p after ; Point3
i ? id1l p X|3
calling swap? | tlid1
A:idl € CORRECT id2 q y |4
B:id2 D:2 S5 )
C:1 E:ldon’tknow




[ Global p (Explanation-3)

import shapes \ Global Space
p = shapes.Point3(1,2,3) : id1
g = shapes.Point3(3,4,5) p|idl Point3
def swap(p, q): q|id2 X| L
1 t=p y|2
P =
Call Stack (w/1Frame)

\s\wap(p, 2 / swap_X '1/2'3 id2

What s in global p after

Point3

: ' id2 P X|3
calling swap? ]fm t/id1
A:idl € CORRECT id2 q y |4
B:id2 D:2 715
C:1 E:ldon’tknow 3




[ Global p (Explanation-4)

import shapes \ Global Space
p = shapes.Point3(1,2,3) : id1
g = shapes.Point3(3,4,5) p|idl Point3
: 1
def swap(p, q): g |id2 X
1 t = o) y 2
2 P =4
- t Z3

q
' ! Call Stack (w/1Frame)
TEP(Po @) / swap_X xz"é id2

What s in global p after

Point3

: 141 id2 [P X|3
calling swap? ]fm t/id1
A:id1 € CORRECT id2 id1 |g y|4
B:id2 D:2 715
C:1 E:ldon’tknow 0




Global p (Explanation-5)

import shapes
P
q

def swap(p, q):

1 t = p
2 P =d
3 q =t

*ﬂap(p, q)

shapes.Point3(1,2,3)
shapes.Point3(3,4,5)

~

/

What s in global p after
calling swap?

Global Space

p|idl

q|id2

Call Stack (w/1Frame)
/

swap_X

idl id2 |P

A:idl € CORRECT
B:id2 D:2
C:1 E:ldon’tknow

j,l,d’zidyq

t

/ RETURN

174

id1

None

7

Point3

Point3
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